A water and ceramic slurry with a uniform density of 1100 kilograms per
meter cubsed enters a seflling tank with a height of one meter and a
diameter of one meter. Affer one hour in the tank, the density of the slurry
at the top of the tank is measured to be 1000 kilograms per meter cubed
and the density at the bottom of the tank is measured to be 1200
kilograms per meter cubed. Assume the density of the slumry varies
linearly between the top and the bottom. How far has the center of mass
of the slurry dropped hetween the initial conditions and the current state?
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